Mini Exam #3 A.P.Calculus  Name

1. Multiple Choice
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L. Wthh of the following expressions would evaluate the definite integral
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C 2. The acceleration of an object moving along the x-axis is given by
a(r) = 18r—2, where the velocity is 12 m/ sec when 7 =2 sec and the
position is 2 meters when ¢ = | second. The position x(f) =
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(A) 91°—1*=20r+14
(B) 91> =1 +207-26
(C) 36> =17=201+20
(D) 36°—1%+201-20
(E) 1*=1*-201+22

\23 If f(x)=1n(In(1-x)), Then f'(x)=
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L If I[x)dx 6 and J’f(x)dx 11, then J'f(x)iv—

C 5. The average value of Jx overtheinterval 0<x<2 is
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